On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Important Note :

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Module-1 Z
Explain “Structmal:-S;fstem ) (08 Marks)
Explain load transfer meehanlsm in a building with sketchus (12 Marks)

; , OR VY
Explain one way and two way structural systerns w1fh examples and sketches. (one

dimensional and two dlmenslandl) (12 Marks)
Sketch and explain “VAULT” > (08 Marks)
Explain the following with examplé:

Dead load. (07 Marks)

Imposed load. (07 Marks)
Thermal load. e (06 Marks)

Static load )
Dynamic load. E\'T-‘“ :
Impact load. S

(07 Marks)
(07 Marks)
(06 Marks)

Module-3

State and explain “Prmclplu of transmissibility of force”.

(08 Marks)
(12 Marks)

Calculate the result ant of the force system shown.
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o Module-4

"E}gpxam the terms stress, strain and Poisson’s ratio. LA (06 Marks)
Albar 2000 mm long and 30 mm dia is subjected to an axial puﬂ of 30 kN, If
E =2x ii}sN/mm , calculate stress, strain and elongation of the bar. <~ (09 Marks)
Calculate the moduius of elasticity of the material of a bar of length: 3080 mm and of dia
30 mm, sub_]ecled to a tensile load of 60 kN. The elongation of the bdl’ is 4 mm. (05 Marks)

OR

iaiit dMomenﬁ% of a force™.
State and explalﬂ ©q

(06 Marks)

(08 ‘Vlarks)
State and explain “Lam: '5 theorem”. (06 Marks)
NN Module-5
Explain “Statically determmatc truss”. (04 Marks)
Explain “Statically Indetermmate truss”. N (04 Marks)
Calculate the reactions at the support A and B of th L7y (12 Marks)
7 Flg QQ (c)
i OR '
With usual notations m =72j- 3 explain the ClaSSiTiLaUOH of trusses with examples for
each. ; : £ ¢ ¢ (09 Marks)
b. Calculate the weight of t}iﬁ truss shown if the members are 40x40x 6 and of 3.5 kg/m.
s (11 Marks)
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